# **District School Board of Pasco County Bid Recommendation**

Bid Title	Honeywell T-Stats & Sensors	Number of Vendors Notified	272
Bid Number	09-024-LR	Number of Bids Distributed	26
Date Solicited	June 18, 2008	Number of Vendors Bidding	8
<b>Date Opened</b>	July 14, 2008	Number of Vendors Not Bidding	0
Date Board Presentation	August 5, 2008	Funding Source	General
<b>Total Savings</b>	\$1,959.56	Grand Total of Bid	\$25,418.30

#### **Recommendation:**

Recommend acceptance of bid from Stromquist & Co, Inc., as noted on attached bid tabulation sheet, as lowest and best, responsive and responsible "all-or-none" bid meeting written specifications.

#### **Term of Contract:**

This bid is for Honeywell Thermostats and Temperature Sensors for the Maintenance Department's use throughout the District. This is a three-year bid renewable annually based upon mutual agreement of both parties. The first year of this contract shall be effective from August 6, 2008 to July 29, 2009.

#### **Notations and Exceptions:**

Offers from the vendors listed herein are the only offers received timely as of the above opening date and time. All other offers submitted in response to this solicitation, if any, are hereby rejected as late.

#### **Bids Evaluated By:**

Phil Laycock, Air Conditioner Crew Chief, Maintenance Department John Soler, Energy Coordinator, Maintenance Department

# **Bids Prepared By:**

Laurie Roberts, CPPB, Buyer, Purchasing Department

# **Reviewed and Authorized By:**

Kendra Goodman, CPPB, Purchasing Agent

Date/Time: July 30, 2008; 9:09:00

# DISTRICT SCHOOL BOARD OF PASCO COUNTY BID TABULATION

DATE OF OPENING: July 14, 2008 @ 2:30 PM		Allied Controls, Inc		DWG Inc		International Systems of America, Inc		
BID TITLE: Honeywell Thermostats and Temperature Sensors		310 West Central Parkway, Suite #7300		3653 Regent Blvd Suite 604		1812 Cargo Court		
BID # 09-024-LR		Altamonte Springs, FL 32714		Jacksonville, FL 32224		Louisville, KY 40299		
		Under Evaluation						
ITEM#	QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
HT-1	157	Honeywell Thermostat #T7350B1002 or equal Manufacturer / Product #	\$155.66 Honeywell /	\$24,438.62 77350B1002	\$261.16 Honeywell / H	*\$41,000.55 ONT7351F2010	\$220.57 Honeywell /	\$34,629.49 T7350B1002
HT-2	157	Honeywell Temperature Sensor #C7041B2005 or equal Manufacturer / Product #	\$10.50	\$1,648.50 C7041B2005	\$13.90 Honeywell HO	\$2,182.30 DNC7041B2005	\$14.55 Honeywell	\$2,284.35 / C7041B205
	TOTAL ALL OR NON BID PRICE			087.12	,	82.85	,	913.84

# DISTRICT SCHOOL BOARD OF PASCO COUNTY BID TABULATION

DATE OF OPENING: July 14, 2008 @ 2:30 PM		Johnstone Supply		Multi-Source Electrical & Industrial Corp		Stromquist & Co, Inc		
BID TITLE: Honeywell Thermostats and Temperature Sensors		11710 Central Parkway		2 Secatag Ave		5125 Adanson St, Suite 200		
BID # 09-024-LR		Jacksonville, FL 32224		Port Washington, NY 11050		Orlando, FL 32804		
		Under Evaluation						
ITEM#	QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
HT-1	157	Honeywell Thermostat #T7350B1002 or equal Manufacturer / Product #	\$154.23 Honeywell	\$24,214.11 / T735B1002	\$203.12 Honeywell /	\$31,889.84 T7350B1002	\$152.00 Honeywell /	\$23,864.00 T7350B1002
HT-2	157	Honeywell Temperature Sensor #C7041B2005 or equal Manufacturer / Product #	\$10.11	\$1,587.27 C7041B2005	\$13.39 Honeywell /	\$2,102.23 C7041B2005	\$9.90 Honeywell /	\$1,554.30 C7041B2005
		TOTAL ALL OR NON BID PRICE	\$25,801.38		\$33,992.07		\$25,4	18.30

# DISTRICT SCHOOL BOARD OF PASCO COUNTY BID TABULATION

DATE OF OPENING: July 14, 2008 @ 2:30 PM		Technico		Trane HVAC Parts & Supplies		
BID TITLE: Honeywell Thermostats and Temperature Sensors		3800 NW 49th St		16521 Scherer Blvd		
BID # 09-024-LR		Tamarac, FL 33309		Hudson, FL 34667		
		Under Evaluation				
ITEM#	QTY	DESCRIPTION	<b>UNIT PRICE</b>	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
HT-1	157	Honeywell Thermostat #T7350B1002 or equal Manufacturer / Product #		\$24,652.14 / T7350B1002	\$158.00 Honeywell /	\$24,806.00 T7350B1002
HT-2	157	Honeywell Temperature Sensor #C7041B2005 or equal Manufacturer / Product #	\$11.95	\$1,876.15 C7041B2005	\$10.90 Honeywell /	\$1,711.30 C7041B2005
		TOTAL ALL OR NON BID PRICE	\$26,528.29		\$26,517.30	